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Part One: Reading. comprehension

Directions: Read the following passages carefully. Each Passage is followed by some questions. Complete
the questions with-the most suitable words orephrases(a, b} c;-or; d),
Base your answers on the information given’in the passage only.

Passage 1

There is extensive international research documenting the ways in which the health status of
different age groups is significantly determined by social and economic conditions as well as by
therapeutic care or personal health behaviors. Social determinants of health are social and
economic conditions that influence health of individuals and communities.

While people of all ages should maintain good health, young people face special challenges as
they transit from childhood to adulthood. With the onset of puberty, the body changes to
accommodate physical and emotional growth, but it also marks one of the most vulnerable stages
in a young person’s social life. During this time, females tend to struggle more than males with
body images and self-esteem issues which can lead to dangerous eating disorders and even death.
On the other hand, substance abuse, depression, self-mutilation and suicide have higher incident
rates in males than females and if left untreated, these health concerns may lead to permanent
mental and physical damage.

121 — According to the passage, childhood to adulthood transition period ............ .

a) happens quite smoothly

b) issimilar to other stages of life

c) s of special significance

d) overcomes psychosocial risks easily
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122 _ As the first paragraph indicates, the health of different age groups seems to be ............

a) a multifactorial phenomenon

b) mainly determined by therapeutic factors
c) atherapeutic care issue

d) limited to economic condition

123 — Eating disorders among females at puberty usually ............ self-esteem and body image issues
common in this period.
a) leadto b) contribute to c¢) result from d) differ from
124 _ Problems like depression and self-mutilation are ............ during puberty.

a) more prevalent among males

b) more common among females

c) nowadays less common among both sexes

d) equally distributed among males and females

125 — At puberty, one is ............ .

a) particularly immune against soctal discomforts
b) more vulnerable to psychosocialhazards

c) still indifferent to-most of social changes

d) more likely to follow socioeconomic changes

Passage 2

Vaccines are apathogenic entities that“cause the immune system to respond in such a way that
when it encounters the specific pathogen represented hy.the vaccine, it is able to recognize it and
mount a protective-immune’ response, even though-the ‘body ‘may not have encountered that
particular pathogen before.

Influenza virus has been with mankind for at least 300 years, causing epidemics every few
years and pandemics every few decades. They result in 250,000 to 500, 000 deaths, and 3-5
million cases of severe illnesses each year worldwide, with 5-15% of the total population
becoming infected. Today we have the capability of producing 300 million doses of vaccine per
year —enough for current epidemic in the Western world, but insufficient for coping with a
pandemic.

The influenza vaccine is effective in preventing disease and death, especially in high risk
groups, and in the context of routine vaccination, the World Health Organization reports that the
“influenza vaccine is the most effective preventive measure available”. With regard to the present
fear of an imminent influenza pandemic, “vaccination and the use of antiviral drugs are the two
of the most important response measures for reducing morbidity and mortality during a
pandemic.

126 — The immune system is activated if ............ .

a) it encounters the attacking pathogen

b) the attacking virus is apathogenic

c) the body has already destroyed the pathogen
d) it has already shown proper reaction
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127 — The underlined “it” (line 2) refers to ............ .

a) specific pathogen Db) immune system c) immune response  d) a pathogenic entity

128 — Influenza viruses can ............ .

a) lead to high morbidity rate worldwide

b) make the flu vaccine ineffective for some people
c) equally affect all age groups

d) last for three hundred years

129 — The vaccines produced today ............ the pandemic threat of influenza.

a) ,though insufficient, can eradicate

b) ,being preventive, can hardly reduce
c) has made people get rid of

d) quantitatively have failed to overcome

130 — The best topic for the third paragraphis ............ .

a) preventive measures of morbidity and mortality
b) the imminent influenza pandemic

c) vaccination and the use of antiviral drugs

d) the preventive effectoffluvaceine

Passage 3

It is not uncommon for lowland visitors with a history of High Blood Pressure (HBP) to
experience temporarily-high blood pressure.at-high-altitude. This oecurs even if they are on blood
pressure medieation and have well controlled-blood pressure at sea level. A small percentage of
these people will have unusually unstable blood pressure. HBP at altitude usually returns to the
baseline blood pressure aften 142 weeks at altituecle.

One explanation for this is due to the higher levels of adrenaline or stress hormones in your
body due to lower oxygen levels. The effects of altitude on blood pressure are variable. Some
persons with HBP, for instance, develop lower blood pressure on ascent to high altitude. They
generally do not need to change their blood pressure medication dosage. Increasing their dosage
could result in dangerously low blood pressure upon returning to low altitude. If they are having
symptoms from their high blood pressure such as headache, dizziness, chest pain, or shortness of
breath, they should seek medical treatment. Occasionally, HBP will need to be treated with
medications. Further studies are needed to better understand blood pressure response at altitude
and how best to treat it.

131 - It is stated that HBP patients living at sea level may ............ when traveling to high altitude.

a) experience transient hypertension
b) experience permanent improvement
c) adapt to their medical regiment

d) adapt to the symptoms of HBP

132 — The phrase “these people” (line 4) refers to ............ .

a) patients with a history of high blood pressure

b) high blood pressure patients living at high altitude

¢) lowland visitors controlling their blood pressure

d) people going to high altitude to control their hypertension
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133 — It is stated that those whose blood pressure rises at high altitude ............ .

a) should take it seriously and return to lowland places immediately
b) are likely to experience gradual normalization of blood pressure
c) may suffer hypertension perpetually as long as they are there

d) probably already have a family history of BHP

134 . If patients with HBP ascend to high altitude and have headache, chest pain, etc., they should

a) increase their medication dosage
b) seek other HBP symptoms as well
c) reduce their medication dosage

d) ask for medical treatment

135 — The underlying cause of HBP-athigh-aititude as provided by the paragraph can be ............ .

a) the absence of pure oxygen

b) undersecretion of @drenaline

c) oversecretion of stress hormones

d) development of poor immune system

Passage 4

Virtual reality therapy has been used to help people with a variety of fears and phobias. The
Duke University Virtual Reality Treatment (VRT) Program offers therapy for anxiety disorders
related to fear of heights, elevators, thunderstorm, public speaking and flying. Participants are
placed in computer —generated three-dimensional world-that gives them a sense of presence in
the virtual environment.“Thesexperience is quided by a therapist'who can interact with them
throughout the therapy. Virtual reality therapy has several advantages over recreating
experience inwvealdife, including the ability tojcontrol the envisonment, to schedule treatment, to
repeat scenarios, and to adjust scenarios to improve treatment. Also, it may have insurance
benefits as some insurance will not cover the extended time needed for exposure therapy in
person — virtual reality therapy often requires much less time.

Researchers are also using virtual reality in job interview training for people with severe
mental illness. These groups of people have very low employment rates and the job interview
often presents a major barrier to competitive employment. Research so far is promising. One
study of individuals with severe mental illness found that virtual reality job interview training
leads to increased job offers and less time searching to employment.

136 — The success of VRT with phobic patients is mainly due to ............ .

a) repeating real scenarios

b) more interaction with the therapist

c) recreating real life experience of fear virtually
d) generation of three-dimensional image visually

137 = As VRT ............ for exposure, insurance companies may pay the treatment cost.

a) decreases the time needed

b) can adjust scenarios

c) extends the time required

d) can control the virtual experience
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138 — The main purpose of the writer is to ............ phobic patients.

a) explain and approve the role of VRT for
b) show his concerns about employment of
c) describe virtual experience of VRT in
d) illustrate exposure scenario of VRT in

139 — The findings of the study, as stated in the passage, ............ mentally ill patients.

a) are promising about the job interview of
b) show the amount of time required by

c) are less favorable during the interview for
d) show that there are fewer jobs for

140 — The passage suggests that VRT ........... for phobic patients.

a) is conducted withgut the intervention.of a therapist

b) increases the competitive environment of insurance companies
c) increases the training time and job opportunities

d) provides more advantages over real time experience

Part two: Vocabulary Questions:

Directions: Complete following sentences by choosing the best answer.

141 — The physician prescribed some pills to ............ his headache.
a) ease b) facilitate c) elevate d) repair
142 — Since he needed to focus on his research project, he ............ his administrative responsibilities.
a) resumed b) postponed c) elevated d) augmented
143 — Some food items such as sugar and candy ............ tooth decay; people are advised to avoid
them.
a) hinder b) promote C) prevent d) improve
144 _ Her parents always worry about her ............ to infectious diseases.
a) invulnerability b) irreversibility c) predictability d) susceptibility

145 _ Besides the use of chemical drugs which help recovery, it is now believed that laughter

............ our immune system ability to fight against illnesses.

a) enhances b) diminishes C) neutralizes d) suppresses

A




Mol 639-‘9-1}39 Ayl ol sl g0 3T

146 — Reviewing the outcomes of the system provides new ............ into understanding its deficiencies.
a) modules b) incidents c) manuals d) insights
147 — The temperature in a laboratory must remain ............ to obtain accurate results and avoid

fluctuations.

a) continuous b) convenient Cc) constant d) complex
148 — The health sector needs ............ people who care for the improvement of the country
a) delighted b) detained c) dedicated d) detracted
149 _ As soon as a client, with a chronic disease, enters the emergency room, the nurse ............ the

plan for providing care.
a) hinders b) appreciates Cc) postpones d) initiates

150 — During the break between the games, she had a drink of water and wiped the ............ off her
face and arms with a towel.
a) inspiration D) perspiration C)_aspiration d) respiration
151 . After data collection and analysis in a research, the suggested hypothesis is either rejected,

............ or accepted,

a) confirmed b)=modified C) proposed d) neglected
152 — Some painful conditions in the body may be ............ psychological disorders.
a) diverted from b) healed by c) attributed to d) squeezed in
153 — The fall in blood pressure was of little importance. It was ............ .
a) considerable b) invaluable c) palpable d) negligible
154 _ If vision loss has already begun, it may ............ to total blindness even after the start of
treatment.
a) penetrate b) subside C) congest d) advance
155 — The senses of taste and smell work together to enable people to ............ flavor.
a) maintain b) distribute C) appreciate d) reject
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156 — Arteries branch into small passages called arterioles and then into capillaries; the capillaries

............ again to bring blood into the venous system.
a) diverge b) emerge c) submerge d) merge

157 — Infectious diseases used to be the commonest ............ of mankind and a major source of

morbidity and mortality.
a) affairs b) afflictions C) substitutes d) enquiries

158 — Compared to other medical specialists, surgeons usually have a stronger ............ to

recommend surgery as the first line of treatment.
a) convention b) implication c)_inclination d) reflection

159 — Obesity reduces life ............ and predisposes individuals at high risk of developing a variety of

systemic diseases.
a) awareness b) assurance C) exposure d) expectancy

160 — Recent interventions recommended by WHO served.as a/an ............ measure to prevent the

spread of the disease.
a) suppressive b) challenging c) prophylactic d) conflicting




